Divide by Negative Powers of Ten (B)

60 :

76:

56:

48 :

30:

51

16:

98:

50:

20:

Find each quotient.

0,1= 75:0,001 =
0,001 = 42:0,01 =
0,01 = 19:0,01 =
0,01= 35:0,01 =
0,01 = 18:0,01 =
10,001 = 98:0,1 =
0,1= 90:0,001 =
01= 30:0,001 =
0,01 = 33:0,001 =
0,1= 33:0,001 =
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Divide by Negative Powers of Ten (B) Answers

60 :

76:

56:

48 :

30:

51

16:

98:

50:

20:

Find each quotient.

0,1 =600 75:0,001 =75.000
0,001 =76.000 42:0,01 =4.200
0,01 =5.600 19:0,01 =1.900
0,01 =4.800 35:0,01 =3.500
0,01 =3.000 18:0,01 =1.800
: 0,001 =51.000 98:0,1 =980
0,1 =160 90:0,001 =90.000
0,1 =980 30:0,001 =30.000
0,01 =5.000 33:0,001 =33.000
0,1 =200 33:0,001 =33.000
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